

Page 1 of 12

Contract ID: 23106 Counties: ESSEX

Letting Date: April 06, 2023 District(s): N1

**Call Order:** 106 **Project(s):** NHP-0124 (300)

Contract Time: 11/20/23 COMPLETION DATE Min: Max:

|                  | o / Item ID<br>escription |                    | (1) ASPHAL<br>SYSTEM |            |            |            |            |            |
|------------------|---------------------------|--------------------|----------------------|------------|------------|------------|------------|------------|
| Alt Set          | / Alt Member              | Quantity and Units | Unit Price           | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTIO           | <b>N</b> : 0001           | ROADWAY            |                      | Cat Alt    | Set:       | Cat A      | It Member: |            |
| 0001             | 151006M                   | 1.000              | 14,700.00000         | 14,700.00  |            |            |            |            |
| PERFOR<br>PAYMEN | MANCE BOND AND<br>IT BOND | DOLL               |                      |            |            |            |            |            |
| 0002             | 152015P                   | 1.000              | 20,000.00000         | 20,000.00  |            |            |            |            |
| POLLUT           | ION LIABILITY INSUR       | ANCE DOLL          |                      |            |            |            |            |            |
| 0003             | 153003P                   | (1)                | 38,000.00000         | 38,000.00  |            |            |            |            |
| PROGRE           | ESS SCHEDULE              | LS                 |                      |            |            |            |            |            |
| 0004             | 153005M                   | 2.000              | 8,000.00000          | 16,000.00  |            |            |            |            |
| PROGRE           | SS SCHEDULE UPD           | ATE U              |                      |            |            |            |            |            |
| 0005             | 154003P                   | (1)                | 279,000.00000        | 279,000.00 |            |            |            |            |
| MOBILIZ          | ATION                     | LS                 |                      |            |            |            |            |            |
| 0006             | 155015M                   | 1.000              | 46,000.00000         | 46,000.00  |            |            |            |            |
| FIELD O          | FFICE TYPE E SET U        | P U                |                      |            |            |            |            |            |



Page 2 of 12

Contract ID: 23106 Counties: ESSEX

Letting Date: April 06, 2023 District(s): N1

**Call Order:** 106 **Project(s):** NHP-0124 (300)

Contract Time: 11/20/23 COMPLETION DATE Min: Max:

|                                | o / Item ID<br>escription |                    | (1) ASPHAL<br>SYSTEM |            |            |            |            |            |
|--------------------------------|---------------------------|--------------------|----------------------|------------|------------|------------|------------|------------|
| Alt Set                        | / Alt Member              | Quantity and Units | Unit Price           | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001 ROAL             |                           | ROADWAY            |                      | Cat Alt    | Set:       | Cat A      | It Member: |            |
| 0007                           | 155033M                   | 7.000              | 9,000.00000          | 63,000.00  |            |            |            |            |
| FIELD OF<br>MAINTEN            | FICE TYPE E<br>IANCE      | MO                 |                      |            |            |            |            |            |
| 8000                           | 157004M                   | 1.000              | 38,000.00000         | 38,000.00  |            |            |            |            |
| CONSTR                         | UCTION LAYOUT             | DOLL               |                      |            |            |            |            |            |
| 0009                           | 158006M                   | 500.000            | 43.39000             | 21,695.00  |            |            |            |            |
| SILT FEN                       | CE                        | LF                 |                      |            |            |            |            |            |
| 0010                           | 158012M                   | 500.000            | 52.14000             | 26,070.00  |            |            |            |            |
| HEAVY D                        | UTY SILT FENCE, E         | BLACK LF           |                      |            |            |            |            |            |
| 0011                           | 158030M                   | 10.000             | 636.75000            | 6,367.50   |            |            |            |            |
| INLET FILTER TYPE 2, 2' X 4' U |                           |                    |                      |            |            |            |            |            |
| 0012                           | 158033M                   | 2.000              | 700.00000            | 1,400.00   |            |            |            |            |
| INLET FIL                      | TER TYPE 2, 4' X 4        | ' U                |                      |            |            |            |            |            |



Page 3 of 12

Contract ID: 23106 Counties: ESSEX

Letting Date: April 06, 2023 District(s): N1

**Call Order:** 106 **Project(s):** NHP-0124 (300)

Contract Time: 11/20/23 COMPLETION DATE Min: Max:

|                       | Line No / Item ID Item Description |                    | (1) ASPHAL<br>SYSTEM |            |            |            |            |            |
|-----------------------|------------------------------------|--------------------|----------------------|------------|------------|------------|------------|------------|
| Alt Set               | / Alt Member                       | Quantity and Units | Unit Price           | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001 ROADWAY |                                    |                    | Cat Alt Set:         |            | Cat A      | It Member: |            |            |
| 0013                  | 158072M                            | 2.000              | 2,500.00000          | 5,000.00   |            |            |            |            |
| OIL ONL'<br>TYPE 1    | Y EMERGENCY SP                     | ILL KIT, U         |                      |            |            |            |            |            |
| 0014                  | 159003M                            | 100.000            | 100.00000            | 10,000.00  |            |            |            |            |
| BREAKA                | WAY BARRICADE                      | U                  |                      |            |            |            |            |            |
| 0015                  | 159006M                            | 500.000            | 1.00000              | 500.00     |            |            |            |            |
| DRUM                  |                                    | U                  |                      |            |            |            |            |            |
| 0016                  | 159009M                            | 1,000.000          | 30.00000             | 30,000.00  |            |            |            |            |
| TRAFFIC               | CONE                               | U                  |                      |            |            |            |            |            |
| 0017                  | 159012M                            | 4,932.000          | 29.50000             | 145,494.00 |            |            |            |            |
| CONSTR                | UCTION SIGNS                       | SF                 |                      |            |            |            |            |            |



Page 4 of 12

Contract ID: 23106 Counties: ESSEX

Letting Date: April 06, 2023 District(s): N1

**Call Order:** 106 **Project(s):** NHP-0124 (300)

Contract Time: 11/20/23 COMPLETION DATE Min: Max:

|                    | o / Item ID<br>escription      |                    | (1) ASPHAL<br>SYSTEM |            |            |            |            |            |
|--------------------|--------------------------------|--------------------|----------------------|------------|------------|------------|------------|------------|
| Alt Set            | / Alt Member                   | Quantity and Units | Unit Price           | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTIO             | <b>N</b> : 0001                | ROADWAY            |                      | Cat Al     | Set:       | Cat A      | It Member: |            |
| 0018               | 159015M                        | 2.000              | 3,000.00000          | 6,000.00   |            |            |            |            |
| CONSTR<br>SIGN, 4' | UCTION IDENTIFIC<br>X 8'       | ATION U            |                      |            |            |            |            |            |
| 0019               | 159027M                        | 2.000              | 10,000.00000         | 20,000.00  |            |            |            |            |
| FLASHIN            | IG ARROW BOARD,                | , 4' X 8' U        |                      |            |            |            |            |            |
| 0020               | 159030M                        | 2.000              | 22,000.00000         | 44,000.00  |            |            |            |            |
| PORTAB<br>SIGN     | LE VARIABLE MES                | SAGE U             |                      |            |            |            |            |            |
| 0021               | 159108M                        | 2.000              | 10,000.00000         | 20,000.00  |            |            |            |            |
|                    | CONTROL TRUCK<br>CONTROL TRUCK |                    |                      |            |            |            |            |            |
| 0022               | 159138M                        | 12.000             | 3,500.00000          | 42,000.00  |            |            |            |            |
| HMA PA             | ГСН                            | Т                  |                      |            |            |            |            |            |



Page 5 of 12

Contract ID: 23106 Counties: ESSEX

Letting Date: April 06, 2023 District(s): N1

**Call Order:** 106 **Project(s):** NHP-0124 (300)

Contract Time: 11/20/23 COMPLETION DATE Min: Max:

|                       | o / Item ID<br>escription |                    | (1) ASPHAL<br>SYSTEM |            |            |            |            |            |
|-----------------------|---------------------------|--------------------|----------------------|------------|------------|------------|------------|------------|
| Alt Se                | t / Alt Member            | Quantity and Units | Unit Price           | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001 ROADWAY |                           |                    | Cat Alt Set:         |            | Cat A      | It Member: |            |            |
| 0023                  | 159141M                   | 500.000            | 170.00000            | 85,000.00  |            |            |            |            |
| TRAFFIC               | DIRECTOR, FLAGG           | ER HOUR            |                      |            |            |            |            |            |
| 0024                  | 159144M                   | 4.000              | 200.00000            | 800.00     |            |            |            |            |
| EMERGE                | ENCY TOWING SERV          | /ICE U             |                      |            |            |            |            |            |
| 0025                  | 159300M                   | 85,545.000         | 0.65000              | 55,604.25  |            |            |            |            |
| TRAFFIC               | STRIPES, LATEX, 4         | " LF               |                      |            |            |            |            |            |
| 0026                  | 159302M                   | 18,180.000         | 0.51000              | 9,271.80   |            |            |            |            |
| TRAFFIC               | STRIPES, LATEX, 8         | " LF               |                      |            |            |            |            |            |
| 0027                  | 159312M                   | 1,110.000          | 0.51000              | 566.10     |            |            |            |            |
| TRAFFIC<br>LATEX, 8   | MARKINGS LINES,<br>B"     | LF                 |                      |            |            |            |            |            |



Page 6 of 12

Contract ID: 23106 Counties: ESSEX

Letting Date: April 06, 2023 District(s): N1

**Call Order:** 106 **Project(s):** NHP-0124 (300)

Contract Time: 11/20/23 COMPLETION DATE Min: Max:

| Line No / Item ID Item Description |                    | (1) ASPHALT PAVING<br>SYSTEMS, INC. |            |            |            |            |            |
|------------------------------------|--------------------|-------------------------------------|------------|------------|------------|------------|------------|
| Alt Set / Alt Member               | Quantity and Units | Unit Price                          | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001                      | ROADWAY            |                                     | Cat Alt    | Set:       | Cat A      | It Member: |            |
| 0028 159314M                       | 4,725.000          | 1.25000                             | 5,906.25   |            |            |            |            |
| TRAFFIC MARKINGS LI<br>LATEX, 24"  | NES, LF            |                                     |            |            |            |            |            |
| 0029 159320M                       | 1,350.000          | 2.50000                             | 3,375.00   |            |            |            |            |
| TRAFFIC MARKINGS SY<br>LATEX       | YMBOLS, SF         |                                     |            |            |            |            |            |
| 0030 160004M                       | 1.000              | 400.00000                           | 400.00     |            |            |            |            |
| FUEL PRICE ADJUSTM                 | ENT DOLL           |                                     |            |            |            |            |            |
| 0031 160007M                       | 1.000              | 500.00000                           | 500.00     |            |            |            |            |
| ASPHALT PRICE ADJUS                | STMENT DOLL        |                                     |            |            |            |            |            |
| 0032 161003P                       | (1)                | 38,000.00000                        | 38,000.00  |            |            |            |            |
| FINAL CLEANUP                      | LS                 |                                     |            |            |            |            |            |



Page 7 of 12

Contract ID: 23106 Counties: ESSEX

Letting Date: April 06, 2023 District(s): N1

**Call Order:** 106 **Project(s):** NHP-0124 (300)

Contract Time: 11/20/23 COMPLETION DATE Min: Max:

|                       | Line No / Item ID Item Description              |                    | (1) ASPHALT PAVING<br>SYSTEMS, INC. |              |            |            |            |            |
|-----------------------|---|--------------------|-------------------------------------|--------------|------------|------------|------------|------------|
| Alt Set / A           | Alt Member                                      | Quantity and Units | Unit Price                          | Ext Amount   | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001 ROADWAY |   | ROADWAY            |                                     | Cat Alt Set: |            | Cat A      |            |            |
| 0033 2                | 201003P   | (1)                | 40,000.00000                        | 40,000.00    |            |            |            |            |
| CLEARING              | SITE  | LS                 |                                     |              |            |            |            |            |
| 0034 3                | 302051P   | 120.000            | 300.00000                           | 36,000.00    |            |            |            |            |
|                       | ADED AGGREGA <sup>-</sup><br>RSE, VARIABLE<br>S | TE CY              |                                     |              |            |            |            |            |
| 0035 4                | 101009P   | 8,144.000          | 15.49000                            | 126,150.56   |            |            |            |            |
| HMA MILLIN            | NG, 3" OR LESS                                  | SY                 |                                     |              |            |            |            |            |
| 0036 4                | 101017P   | 4,624.000          | 27.00000                            | 124,848.00   |            |            |            |            |
| MICRO-MILLING SY      |   |                    |                                     |              |            |            |            |            |
| 0037 4                | 101021M   | 100.000            | 120.00000                           | 12,000.00    |            |            |            |            |
| HOT MIX AS<br>REPAIR  | SPHALT PAVEME                                   | NT SY              |                                     |              |            |            |            |            |



Page 8 of 12

Contract ID: 23106 Counties: ESSEX

Letting Date: April 06, 2023 District(s): N1

**Call Order:** 106 **Project(s):** NHP-0124 (300)

Contract Time: 11/20/23 COMPLETION DATE Min: Max:

|                         | Line No / Item ID Item Description      |           | (1) ASPHALT PAVING<br>SYSTEMS, INC. |            |            |            |            |            |
|-------------------------|---|-----------|-------------------------------------|------------|------------|------------|------------|------------|
| Alt Set / A             | Alt Set / Alt Member Quantity and Units |           | Unit Price                          | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001 ROADWAY   |   |           | Cat Alt                             | : Set:     | Cat A      | It Member: |            |            |
| 0038 40                 | 01024M                                  | 1,000.000 | 8.00000                             | 8,000.00   |            |            |            |            |
|                         | F CRACKS IN HOT<br>URFACE COURSE        |           |                                     |            |            |            |            |            |
| 0039 40                 | 01030M                                  | 15.000    | 35.00000                            | 525.00     |            |            |            |            |
| TACK COAT               | •                                       | GAL       |                                     |            |            |            |            |            |
| 0040 40                 | 01054M                                  | 942.000   | 332.88000                           | 313,572.96 |            |            |            |            |
| HOT MIX AS<br>SURFACE C | SPHALT 12.5 M 64<br>COURSE              | Т         |                                     |            |            |            |            |            |
| 0041 40                 | 01108M                                  | 4.000     | 480.00000                           | 1,920.00   |            |            |            |            |
| CORE SAMF<br>ASPHALT    | PLES, HOT MIX                           | U         |                                     |            |            |            |            |            |
| 0042 40                 | 01113M                                  | 20.000    | 240.00000                           | 4,800.00   |            |            |            |            |
| HMA LONGI<br>REPAIR     | TUDINAL JOINT                           | SY        |                                     |            |            |            |            |            |



Page 9 of 12

Contract ID: 23106 Counties: ESSEX

Letting Date: April 06, 2023 District(s): N1

**Call Order:** 106 **Project(s):** NHP-0124 (300)

Contract Time: 11/20/23 COMPLETION DATE Min: Max:

|                            | Line No / Item ID Item Description |                    | (1) ASPHALT PAVING<br>SYSTEMS, INC. |            |                 |            |            |            |
|----------------------------|------------------------------------|--------------------|-------------------------------------|------------|-----------------|------------|------------|------------|
| Alt Set / Alt              | Member                             | Quantity and Units | Unit Price                          | Ext Amount | Unit Price      | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001 ROADWAY      |                                    |                    | Cat Alt Set:                        |            | Cat Alt Member: |            |            |            |
| 0043 421                   | 1007M                              | 4,050.000          | 4.95000                             | 20,047.50  |                 |            |            |            |
| MICROPAVING                | G JOINTS                           | LF                 |                                     |            |                 |            |            |            |
| 0044 424                   | 4110M                              | 117,647.000        | 7.96000                             | 936,470.12 |                 |            |            |            |
| CHIP SEAL PO               | G88-22FR                           | SY                 |                                     |            |                 |            |            |            |
| 0045 453                   | 3006M                              | 100.000            | 300.00000                           | 30,000.00  |                 |            |            |            |
| FULL DEPTH (<br>PAVEMENT R |                                    | SY                 |                                     |            |                 |            |            |            |
| 0046 602                   | 2123M                              | 2.000              | 9,909.50000                         | 19,819.00  |                 |            |            |            |
| RECONSTRUCUSING EXISTI     | CTED INLET, TY<br>ING CASTING      | PEB, U             |                                     |            |                 |            |            |            |
| 0047 610                   | 0003M                              | 28,515.000         | 0.88000                             | 25,093.20  |                 |            |            |            |
| TRAFFIC STR                | RIPES, 4"                          | LF                 |                                     |            |                 |            |            |            |



Page 10 of 12

Contract ID: 23106 Counties: ESSEX

Letting Date: April 06, 2023 District(s): N1

**Call Order:** 106 **Project(s):** NHP-0124 (300)

Contract Time: 11/20/23 COMPLETION DATE Min: Max:

|                       | No / Item ID<br>Description |                    | (1) ASPHAL<br>SYSTEM |            |            |            |            |            |
|-----------------------|-----------------------------|--------------------|----------------------|------------|------------|------------|------------|------------|
| Alt Se                | t / Alt Member              | Quantity and Units | Unit Price           | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001 ROADWAY |                             |                    |                      | Cat Al     | t Set:     | Cat A      | It Member: |            |
| 0048                  | 610007M                     | 6,060.000          | 1.75000              | 10,605.00  |            |            |            |            |
| TRAFFI                | C STRIPES, 8"               | LF                 |                      |            |            |            |            |            |
| 0049                  | 610012M                     | 785.000            | 49.63000             | 38,959.55  |            |            |            |            |
| RPM, M                | ONO-DIRECTIONAL,            | WHITE U            |                      |            |            |            |            |            |
| 0050                  | 610014M                     | 370.000            | 2.50000              | 925.00     |            |            |            |            |
| TRAFFI                | C MARKING LINES, 8          | " LF               |                      |            |            |            |            |            |
| 0051                  | 610017M                     | 1,575.000          | 7.50000              | 11,812.50  |            |            |            |            |
| TRAFFI                | C MARKING LINES, 2          | 4" LF              |                      |            |            |            |            |            |
| 0052                  | 610018M                     | 50.000             | 49.63000             | 2,481.50   |            |            |            |            |
| RPM, M<br>AMBER       | ONO-DIRECTIONAL,<br>LENS    | U                  |                      |            |            |            |            |            |



Page 11 of 12

Contract ID: 23106 Counties: ESSEX

Letting Date: April 06, 2023 District(s): N1

**Call Order:** 106 **Project(s):** NHP-0124 (300)

Contract Time: 11/20/23 COMPLETION DATE Min: Max:

|                     | o / Item ID<br>escription |                   | (1) ASPHAL<br>SYSTEM |            |            |            |            |            |
|---------------------|---------------------------|-------------------|----------------------|------------|------------|------------|------------|------------|
| Alt Se              | t / Alt Member Qu         | uantity and Units | Unit Price           | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001 ROADV |                           | ROADWAY           |                      | Cat Al     | Set:       | Cat A      | It Member: |            |
| 0053                | 610021M                   | 55.000            | 49.63000             | 2,729.65   |            |            |            |            |
| RPM, BI-<br>LENS    | DIRECTIONAL, AMBER        | U                 |                      |            |            |            |            |            |
| 0054                | 610024M                   | 890.000           | 75.00000             | 66,750.00  |            |            |            |            |
| REMOVA              | AL OF RPM                 | U                 |                      |            |            |            |            |            |
| 0055                | 610033M                   | 4,050.000         | 3.00000              | 12,150.00  |            |            |            |            |
| RUMBLE              | STRIP                     | LF                |                      |            |            |            |            |            |
| 0056                | 610036M                   | 28,122.000        | 1.14000              | 32,059.08  |            |            |            |            |
| REMOVA              | AL OF TRAFFIC STRIPE      | S LF              |                      |            |            |            |            |            |
| 0057                | 610039M                   | 7,933.000         | 8.50000              | 67,430.50  |            |            |            |            |
| REMOVA              | AL OF TRAFFIC MARKIN      | IGS SF            |                      |            |            |            |            |            |
| 0058                | 610060M                   | 450.000           | 9.94000              | 4,473.00   |            |            |            |            |
| TRAFFIC             | MARKINGS SYMBOLS          | SF                |                      |            |            |            |            |            |



Page 12 of 12

Contract ID: 23106 Counties: ESSEX

Letting Date: April 06, 2023 District(s): N1

**Call Order:** 106 **Project(s):** NHP-0124 (300)

Contract Time: 11/20/23 COMPLETION DATE Min: Max:

Contract Description: Route 124, CR 649 South to Short Hills Avenue

| Line No / Item ID Item Description      |         | (1) ASPHALT PAVING<br>SYSTEMS, INC. |                |            |            |            |            |
|---|---------|-------------------------------------|----------------|------------|------------|------------|------------|
| Alt Set / Alt Member Quantity and Units |         | Unit Price                          | Ext Amount     | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001 ROADWAY                   |         | Cat Alt Set:                        |                | Cat A      | It Member: |            |            |
| 0059 805003M                            | 600.000 | 50.12000                            | 30,072.00      |            |            |            |            |
| TURF REPAIR STRIP                       | LF      |                                     |                |            |            |            |            |
| Section Totals:                         |         |                                     | \$3,072,344.02 |            |            |            |            |
| Contract Totals                         |         |                                     | \$3,072,344.02 |            |            |            |            |
| Cos                                     |         | \$3,072,344.02                      |                |            |            |            |            |

() indicates item is bid as Lump Sum



Vendor Ranking Page:

Call Order: 106 Contract ID: 23106 Counties: ESSEX

Letting Date: April 06, 2023 10:00 AM District(s): N1

Contract Time: 11/20/23 COMPLETION DATE

Contract Description: Route 124, CR 649 South to Short Hills Avenue Project(s): NHP-0124 (300)

| Rank | Vendor Name                  | Total Bid      | Percent Of<br>Low Bid |
|------|------------------------------|----------------|-----------------------|
| 1    | ASPHALT PAVING SYSTEMS, INC. | \$3,072,344.02 | 100.00%               |

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.